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Instructions (Read it carefully) / faTiTIaa (FETETST TTFNI T34 )

1. Fillup your Examination Registration number (08 digits, i.e. 221xxxxx) and personal details

in allotted space on OMR Sheet. Please follow the correct method for darkening the circle of
your choice as mentioned in OMR sheet. Your answer to be marked on OMR sheet by
“filling-in-the-circle” with BLACK INK Ball Point Pen only.
S TS @R 797 (08 AR, @A 221xxxx) 33 OMR FE FWHFS A
FfETe FIFT 7T FF ST T JEBE@ P FAR I AT FW OMR G Sfeifie
S5 THS TR FFF| TR T BYIT BLACK INK Ball Point Pen 7 OMR ME "I8
fe" I fofFe Fa© TS|

2. No extra OMR Sheet shall be provided to you in any circumstances. If the OMR Sheet is
found defective, please inform the invigilator at the beginning of the examination.

@ TSR AEE @ eEE OMR 6 Fwe a1 T A1l I OMR e o @7 =,
@ TR BFE2 AT @ e |

3. You have to answer all 100 questions. Each question carries 1 mark. There is negative

marking of Y4 mark for each wrong answer. Unattempted questions will be marked as ‘0’
mark. All the questions will be in both Bengali and English languages & there will be four
answer options (from A to D) for each question. You have to choose the correct (one)
answer. Few blank sheets are included at the end of this booklet for rough work.
S 1008 Serw Tow fote =) =feft o9 1 TEe| 26l g Soms & % F95 Fo! IE|
i o SfE @@ 219 w99 0 RTE e $71 71 Y oY IR 99 RER TeF SR
o 99 =TT S0 5 SIA1E ST 9T NHE (A (W@ D g) | A WiEe (9316) TN (R
e 3@ TS FIOT & 93 TI-FFE CTH FIFT0 BT O (FeFT 7=

4 You are not allowed to keep mobile phone or any other electronic gadgets including
calculator with you but geometry box is allowed.

WWW,WWWWWWWWW@WW
33 e |

5. Adoption of any unfair means will cancel the applicants’ candidature. No request in this
issue will be entertained.

I IS, THW TS FAE ARG (JHe] e 371 | 3 [T I SN SR F1 T
&l

6. Before leaving the examination hall, you have to submit the OMR sheet to the invigilator. You
may take away your question booklet after the examination. You are not allowed to leave the
examination hall until 2 hours have been elapsed.

SRS 77 O FATE AT, AP AEw@E = OMR 6 w91 fite 2| TS ¥ [WF @
rER RIS A W (@ E| @A F0e3 2 TR AT THE FH ST FAI WM

=7l

7. Please read all the instructions provided in the OMR Sheet.

T[Tz ST OMR TG (w37 57 =t gt |
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| QP-VSO(IX)-2022

Each question has four options (A, B, C and D) of answer. Please choose the
correct option and fill the appropriate circle with black ink ball pen in the OMR
sheet.

2Tt arT So@a v13 379 (A, B, C 93 D) I Igaz 717 733 fFFwfe @™

forr 932 OMR B F10aT F1f#F 39 (741 fonew Sorgs q@ft 3T T4

'
/T\I,$ \',F’Q‘, K X\ !"‘Kr \/'- i |r\1 ."T(‘ !\ Jl 7 = (I” P 4 f\j - F'W'
M P o I &
& N A" QUESTIONS 4\,7;7"’
i “{T-' [ S 147% -
~4" (Unit of pressure x unit of volume) gives us the unit of physical quantity - N T—
(BT9T 939 x AT I5F) (A (@16 FMEF 9FF (WF, ©TF - M i
( ) \/ o
@ Force (3) @f’Acceleration (@71)  C. Work () D Power (%)

/2./Ir_1 a dry cell used in a torch -
9916 9% (F19 b6 3 T97e (7 SR (T FI0F 5 ©F 3 - * i

A. thermal energy is converted into light energy.
| (ST T TS e FHEfRS 21)
@ chemical energy is converted into electrical energy.
(@R e Ipfes et F e 31)
| C. thermal energy is converted into electrical er’ﬂ.ergy
(o1t 7% tagfes ete Fefe 231)
D. chemical energy is directly converted into light energy.

(mmﬁﬁﬁw&mmmmwn

3. Identify the factor on which the boiling point of a liquid depends.
SAEE oA (I FAfoa Ta fada w@ w1 fifFs @l

@.\ The density of the liquid (SIS ¥979)

L8 The presence of dissolved matter in the liquid (S&( 5316® B CERCRIRIT)
C. The refractive index of the liquid (SFTTH afEaTE)
D. The specific heat of the liquid (SATTA IMHFF ©T7) .
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4. Which of the following phenomenon is NOT associated with light?

faea @FTe g ST SNy TS 797 2
A. Dispersion (fF=ga)

@ Convection (Tfa5eT=)
C. Reflection (&%)
D. Refraction (3fe5a)

/5./ For the quantitative measurement of force we take the help of -
I ARSI AT Sy SAHAT ITF T2 42 -

A. Newton's law of gravitation (fFE6@a 7215 )

@ Newton's first law of motion (frSE@R F¥3 sfesa)
C. Newton’s second law of motion (fSE@= &SI sIfe7a)
D. Newton's third law of motion (SE@a BSIX sfesa)

6. In deserts, mirage happens due to -

FPGlAe TP (OfF ITF FIFT -
@ Ordinary reflection I(‘F{TEH?T‘T I &)
B, Total internal reflection (Srevaate e sfemere)
C. Defective vision due to heat (STF FeT@ 4f271&a )
D. Refraction (Sf&wae)

/ A monochromatic ray of light is travelling from medium 1 M

to medium 2 (as shown in figure). The refractive index of

medium 2 with respect to medium 1, for this ray is - b medium1 | g

9B 9F BT AMEFACT AT 1 (WF VT 2 (6
I (AR | P JFF S J1aT 1 97 AwE cf.. )

AT 2 a7 ofewarw = -
6 AO/OD B. CD/AB C. AM/DN . AB/CD
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8. You are holding a book having mass of 2kg in your hand. How much force is your hand
applying on the book if acceleration due to gravity is 9.8ms??
Y 2kg BEF I35 IAF MO §F a1 I ASFHS TACEF F 9.8 ms™? 37, (OF 2@ I3 97

37T F© T T F9R,?
A. 2N B. 20N C. 1.96N (® 196N

,Q.’; According to Coulomb’s law, the force F between two charges ¢, and g, separated by
distance r in vacuumis F = K% . The value of K in Sl system is -
9o I q,8 q, THHEE FF r (HE Y, FAES JT IGIA SIOF W& FHAM F9
F=K3E | Sl T5fete K 97 717 27 -
A. 1 (Nm?)/coulomb? @ 0 €9x10° (Nm?/coulomb?® D. 1 (dyne.cm?)/(e.s.u)’

10. Ratio of Magnetic length to the geometric length of a bar magnet is -

T v R O W S Sy e s -
A.0.75 B.0.7 C.1.25 (Dlo.86

)/TCI' he impression of the ﬂame of a candle kept in front of the pinhole is formed on screen in a
pinhole camera. Identify the INCORRECT statement in this context -

PRI ST ST 95f6 (e PRI w1y aFf6 Frer SR HE e 131 93 550 g
fAgfeft fofrs @ -

A the flame appears upside down or inverted on the screen.
(F3r =97 ST5T 31 BB (WAl IC=|)
Q,,B/ '~ the flame's impression gets blurred if the size of the pinhole is increased.

(PRI SFTE FTGTET 2 R =7s7 3 3 I731)

the size of the impression of the flame gets larger if the distance between the pinhole

A

and screen is decreased.
(FroTereT a7 ST 31s v FE T FINTE S W 96 1)
the impression of the flame is obtained because light travels in a straight line.

(FRraTer =277 IS T T FTRT SN TINENT T F(| )

b,

" L
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12. In a pressure cooker the foodstuff gets boiled faster because -
(T FIE AL B6 (g 37 FIF -

A. pressure cooker takes heat from the burners at a faster rate.

((T1F FFTE I (NF F© 917 (77])
higher pressure is developed inside a pressure cooker and foodstuff gets boiled faster.

(9%f5 (TR TR SO TS 5797 tofa 17 992 AWHAT ¥ (7% 1) |

C. lower pressure is created inside a pressure cooker by the release of steam and the
foodstuff gets boiled faster.
(I o7l 28T T (I FFER oo former ofy 13 9= YTTERT o (7% 271)

D. a pressure cooker is made from materials with low thermal conductivity.

(A6 (T T+ OPT ARARZSTS T8 SHFR (4 Wo7F F77 77)

13. Identify the correct symbol for an electric cell from those given below.

Qﬁtﬁfﬁaﬁhﬂf‘@cmﬁmmaﬁﬁﬁﬁ?@ml
@k AL o o g

14, Two containers (X and Y) are kept on the table as shown in
:the adjacent figure. If both of them have same mass and
contain equal amount-of water in each of them which one of
the following is the INCORRECT statement?

R A R 5 @ (X 93 V) T 1w SewE uw
a@aa:wmwmvﬁwwﬁm‘rww, o fawa
@ g7 fAgfe?

A. The forces offered by both X and Y on the table are the same.

(BT X 93 Y Sow@a w1 23% 39 o )

B. The reactions offered by the table to X and Y are equal.

(X A Y 27 5= (Bf T 7137 5% AfSfHa 39 sToyyay )

@ The pressure offered by X on the table is more as that offered by Y on the table.
(CBRTT X =T8T 2% 571 (BT Y 78T v swoR (@ af)
@‘ The pressure offered by Y on the table is greater than that offered by X on the table.

L

/ (BRI Y 7121 w3 5791 (BT X 1A 27 ST (v @)

6
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15. Which one of these pressure of the liquid columns of various lengths given below does
NOT approximately indicate the standard atmospheric pressure?

e o fifew Txom 93 TAT IESFF SN HET (FTAT0 AT T IFFSTT 517 T F&
ar?
@’ 762 mm of mercury (762 mm =Td%)

B. 76 cm of mercury (76 cm *T13%)

C. 10.3 m of water (10.3 m &)

D. 8.2 m of kerosene oil (8.2 m (FEMHF (&)

‘}&. If a temperature in a Celsius scale is C and that in a Fahrenheit scale is F, then the

correct relationship between C and F is -

5 938 STTEET CTEREIT (0T C 3 292 HIEIRR0 (B F 39, O C 33 F a7 7y 5o
. |
o
/@%F—‘;—a B. 9C = 5F — 32 C. 9C + 160 = 5F D.E: C‘;z

AF 500 cal of heat is supplied to same masses of two liquids, X and Y, both are képt
separately at room temperature. The temperature of X rises by 20°C and that of Y goes up
by 30°C. Which of the following statements about their specific heats is correct?

500 TR ST 992 A 56 I, X 93 Y -2 NATATT FAT T, TEHE NEH ST SEHSTE

1Y IR | X-97 STEET 20°C (I T 978 Y-8 SrTar 30°C (3G 17| O eI or
o forea @ [gfef® sfé?

A. Both X and Y have same specific heat (X 932 Y S&@az aCIHS S 9F2)

B. X has specific heat 2/3 of that of Y (X 95 JIi{%& ©17 Y 97 2/3)

C. Y has a specific heat of half that of X (Y 93 @mafEs @77 X A7 IF)

D. X has a specific heat 1.5 times that of Y (X 93 SIif%& @17 Y 95 1.5 8)

18. A car travels 1.5km at 10ms™ and next 1.5km at 15ms™". What is the average velocity of the

car?
2%fB sfE 10ms™" (0T 1.5km, 93 15ms™' (FT @S] 1.5km 5o, SISO SO F87?
A. 12ms’ ( B)/12.5 ms C. 13ms’ D. 13.5ms™
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19.  When two blocks of ice are pressed together, they combine to form a single block of ice,
but if two blocks of wax are pressed this does not happen. Why?

e TR NG AT (ST S ¥SH[ (STST (M7 N oo (e 96 FFETE (50T 470 ©7
AT A9 FI9 -

A. Gravitational attraction between ice blocks is stronger than gravitational attraction
between wax blocks.

(IS 7o MAPTH AIHFAIT G BIETT T NI FET (5 (ST

B. The applied pressure increases the melting point of ice, but decreases that of wax.
(3 BT INHH 4% IS (7, 5 (e s S i 71)

C. The applied pressure decreases the melting point of ice, but increases that of wax.

(3YE BT ITHH ST AT (T 5% (erE e Ife@ 7))

@. Water at the surface of contact of the blocks helps ice to stick together.
(9C TRHASH SRS ST S YSBE A )

20. Two pieces of wood, one larger and one is smaller are taken out from one same log of
wood. The larger piece is kept floating on water while the smaller one floats in a solution of
sugar in water in two different bowls. Identify the correct statement in this context.

76 IS FET, 937 TT 932 996 (1B, 972 MR S (v to T T IS L@ ST BT
A3 (G fofera ST w3t w17l 9% 5 wi3E IeaT fifve 37

A. Both of them are receiving equal buoyancy because both are floating.
(SSI2 WA HTST = FTHT TSTZ ST

B. Lighter liquid water provides relatively less buoyancy.
(TS SR & MAFF© I JI6] I9 )
C. Heavier liquid sugar solution provides more buoyancy.

(19! ©=T fofam ST v (& grareT awie )

Both the wooden pieces are receiving buoyancy equal to their respective weights
(COT FF {Fa1 ©Twd s forsy GoEa ST g=e] geY))
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21. Match the statements in Column | with the correct answer from Column Il and choose the

correct option.
o IER Agfeafm sy &Sy smEa Seasf arms aw: fawa s el fifFe 391
Column | (3% 3%) Column Il (f&813 3®)
1. Mass number of an atom is the number of protons and | a. Nitrogen
(9 TAIYT SF ST T (FABA AT 43 (FRETS)
2. The subatomic particles with negligible mass b. Argon
(sys1efy GR 57 TRl Fem)  © (@msfeD)
3. An atom have stable electronic conﬁguration} c. Electron
(93f6 TR Sif¥e XETHE ) EGEE))
4. A molecule formed by sharing of electrons (covalency) | d. Neutron
(9FfB 31 A ETFEER THICER TN (TS o ) | (frgEe)
5. A metallic atom have unstable electronic configuration | e. Sodium
(9316 ¥ToF TR Gf¥e e P o (eI

1-d, 2-c, 3-b, 4-a, 5-e \

B. 1-b, 2-c, 3-d, 4-e, 5-a
C. 1-c, 2-b, 3-a, 4-e, 5-d
D. 1-e, 2-d, 3-c, 4-b, 5-a

22. An element "Y' has electronic configuration 2, 8, 6. The element 'Y' is a -
Y oY aF XerEA R T 2,8, 6 GRT Y T a7 -
’% Non-metal (ST&T®) ,_. __ _ 5
B. Neutron (f78%)
, @ Noble gas (CTEE STF7)
D. Neon (fFm)

(23. A metal (M) forms a chloride MCls. The formula of its nitride should be -
9316 4Tg (M) 9516 @FTERT MCl; 518 3| 4Tgfod TRIRGH TFS T -

7\
A. MN; B. MN '«G.Jﬂa ) D. (MN);
9
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24. AgNO; + NaCl > AgCl + NaNO,

* The above reaction is an example of -

S REF frafifis @t Samaan
A. Substitution (3f&rer)
Double displacement (fafasr)

C. Decomposition (famems)

D. None of these (FTATGR 73)

/5. FeCls +:NH,OH ~3NH,CI + Fe(OH),
To balance the above equation, the ratio of NH,OH & NH4CI is -
-~ STRE AT TeT RuTTE w9, NH,OH a3 NH.Cl 93 II97Te %77 -
A, 33 B. 2:3 C. 1:2 D. 3:1

) 267 For liquid state of matter, which is not true -
TS ST T 575, (T TUfE oy a7 -

A. The particles gain energy. (Faf 7 sy IE)
The stored potential energy increases the space between particles,
(wf%@ﬁfx‘ﬂr@ameﬁawwmr)
£ The inter-particles attraction increased due to the increasing distance
between the particles.
(PMIBIT HT G (0T IS T - I 3% )
D. The particles become free and escape as a gas at the boiling point

(FNSF & 7@ T A= RO ST M (I 31771)

277 Which of the following is nat obtained on heating Mg(HCO),?
Mg(HCOy), 5T Fa 67 (@7t oz I3 o

28. Among the following which is not a fuel?

FFRsfE s @@ sEstaw

10
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- /29.',r In the reaction Fe,O3 + 2Al — Al,0; + 2Fe, the oxidising agent is -
Fe,03 + 2Al —» Al,Os + 2Fe, 92 TR oas Tt 2 -

A Al B. Fe @ Fe,0s D. ALOs

' /36 The electrolyte used in copper plating of an article is —
| 235 ITF ST FINE T oS (T OGS {ET sTwr T72d F91 27 ?

A. Copper Sulphate solution (F=T8 S0 53¢ )

1 Solid Copper Sulphate (I3« F1& SFTE0)
C. Powdered Copper Sulphate (851 18 ST&06)
D. None of these (A8FF (FTE162 93)

: . 3 H,SO, acts as a strong oxidising agent. In which of the reaction, it is not acting as an

/ oxidising agent?
H,S0, 938 & o "y B5E 719 3| (@« &AFIs, aft oas il e 76 3@
A?

A. C +2H,80,— CO, + 280, + 2H,0
B. CaF, + 2H,80, — CaSO; + 2HF
{©) S +2H;S0,— 350, + H;0
D. Cu + 2H,80;— CuSO; + SO; + 2H0

% Element-X forms a polyatomic molecule & element-Y is liquid at room temperature.
Among the elements He, Br, Pt, & O; X and Y are.
N-X 2316 AfFrmBE o s9a & 932 G- Y FEF STTHE ST |

! He, Br, Pt, & O TS feg (& X a2 Y 29 -

A.X=He, Y=Pt B.X=0,Y=Br C.X=0,Y=He D. X=Br, Y=Pt

,3—3./ On increasing pressure, the solubility of CO; in water -
515 ST T CO, 97 EIANTST -

Decreases (2T 1X)

Increases (& ¥)

Decreases then Increases (S0 2 ¥ ©1E+7d Jfa M)
No effect (T TS1F (@12)

.U.O@?’

11
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%. Both covalency and electrovalency are involved in -
@FfEre AR 8 BEFTETel 5632 3be, Bl T -

A. CCl, B. CaCl, @HZO D. NaOH
/32. The metal which reacts with cold water and liberates H, is -
(T 4TRfG 3181 S Sy RFJ F@ H, &sfe 3@, o137 -

) Fe B. Al c.§3 D. Cu
36. The molecular formula of Methane is -

Fremg i wEe -

CHs  B.CuHs C. C3Hg D. None of these (ASTR (FTETG2 93)
37. Gunpowder is -

STATO T T
A. diatomic molecule (956 f&sTaa@ a1+
B. Non-metal which is lustrous (3% II¥Tg)

C. A metalloid (33 ¥Tga%)

./D. A mixture consisting of elements & compounds (G 335 (ST YA AF(6 3w

38. What happens when a solution of an acid is mixed with a solution of a base in a test
tube?

Ty A6 IF GI9 (F1A3 (BHLOET N T G GIE] 37, OFF 3] 5?2
|. Temperature of the solution decreases (439F BTHAT 219 )

Il. Temperature of the solution increases (53F BT¥1aT & 1Y)

lll. Temperature of the solution remains the same (53(/F STHTET 932 YTF)
/@ Salt formation takes place (FT3< SF+ 3X)
A ()and(v) (B'()and (i)  C.(Il)only D. (Il) and (IV)

39. A crystalline allotrope of carbon built up from a hexagonal unit is -

235 TCGHY 2816 (Y (OfF FIF@F I36 (FTHFT FH©w0 T -
A. Graphite (T%136)

B. Coal (a?ﬂ?n)'—'
C. Wood charcoal (FT5F FTEFI)

Diamond (M)

12
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40. Which statement is true?
@ % 6 Feo7?
A. Nitric acid turns red litmus blue. (FR%F IMHG a7 G Fe FE (57 1)
B. Sodium hydroxide turns blue litmus red. (CTFSIR TRTHRT AT G 7 FE (G 1)

C. Sodium hydroxide and hydrochloric acid neutralize each other and form salt and

water.

(TEIT TRUTRT 972 TROTFIEF G- ITTIE 10 F@ T30 932 & o9 FA1)
Tooth decay is caused by the presence of a base. (7@d FF BT TAed FAT 2X)

41. The number which can be removed without changing the average from the numbers:
0,2,4,5,9 is -

0, 2, 4,5, 9 9% a7 8fF (AT @ TG 7 AT W27 8FF 1T 97 7 FFIC® ANF, ©T T -

@0 B. 2 C. 4 D. 5

42. The least number by which 2352 is to be multiplied to make it a perfect square is -
2352 51 B oAl o] S 2T STfers (¥ Tl T 8T FH® I, BT X -

A. 6 B. 4 @3 D. 8

43. The smallest number of five digits exactly divisiblé by 16, 24, 36 and 54 is -
75 A Jued (T NG 16, 24, 36 8 54 TR T f[F@™0 T, ©1 -
A. 10244 B. 10296 @ 10368 D. 10299

. §4. 1f 1.14 is expressed as a percentage of 1.9, it will be-
3% 1.14 (F 1.9 97 ToFA] AME 5377 F971 7, ©I1 A -

A 6% B. 10% @ 60% D. 90%

45. Two numbers ‘A’ and ‘B’ are respectively 20% and 50% more than a third number. The
ratio of the ‘A" and ‘B’ is -

96 AT ‘A’ 8 ‘B' 9OIT AF 9316 AT (W@ IYEH 20% 8 50% & 1A’ 8 ‘B35 I TS-
(A)4:5 B.2:5 C.35 D. 5:4
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46.  1f 204 + 12.75 = 16, then the value of 2.04 + 1.275is -
I 204 + 12.75 = 16, ©1ET/2.04 + 1.275 93 99 3T -

@1.6 B. 0.016 C.16 D.0.16

47. Which of the following hour is equal to one second ?
ot =ve 38 557 9% o 97 W ST 2
A. 0.00026 B. 0.00025 C. 0.00024 D. 0.00027

48.  If the digits in the unit place and tenth place of a two digit integer be y and x respectively,
then the integer is -

I @I 976 R TR 5o sang 95 a T A AT INFH y 8 X 7T, BF NN
FIGES
A xy B. x+y @ 10x+y D. 10y+x

49. Kis taller than L and M is taller than N. If M is shorter than L, then who is the tallest?
K 3% L assy /31, M IS N OTCTHT 791 37 238 M I L Sorsy 41T 2%, o (¥ JIGF 747 ?

A. N B. M C. L @.K

50. Which number would replace the question mark in the series? The seriesis 7, 12, 19, ?, 39.
7,12, 19, 2,39 9% (1@ '?' T (77 AT 77 2
A 24 B. 26 @ 28 D. 29

S1. If 16a + 16b = 48, then what is the average of a and b ?
I 16a + 16b = 48 7T, ©@a 3 b AT TS 6 ?

@1.5 B. 25 C. 3 D. None of these

52. 12 workers take 4 hours to complete a job. How long would it take to complete the job
with 15 workers?
12 S5 A (@ 991 ST 4SBT ot 5 | 15 S TF FC BT TG FA FHE?
A. 2 hours 40 minutes (2 57 40 fifaD)
B. B hours 12 minutes (3 557 12 f3ifan)
C. 3 hours 24 minutes(3 557 24 fiifa)
D. 3 hours 30 minutes(3 557 30 RifaE)

14
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53. What will be the value of 2 el B
56 T2 a0
1 1 1
Tl g 2
= + = + % A9 919 $9 ([ “

A 2 3 Bt D.

B84 70 90

=

54. Two sides of a triangle are of length 6 cm and 8 cm respectively. If the length of the third

side be x cm, then the range of x is —
93(6 fiema gt T2 Wy ITHE 6 cm 3 8 cm | M YOIY I 5 x cm W, BW x A7

G T - i
(A)x<14 B 1<x<14 C. 2<x<14 D. 6<x<8
' 55. The average of two numbers is xy. If one number is x, then the other number is —

o ST ST xy 93 I 93 x 2T, OF AN =T -

A.yi2 B.y @ (2xy~X) D. x(y-1) |
56. A man's present age is 125% of what it was 10 years ago. His present age is - Ak +4

% T TETH THT 10 TuH T TI7 97 125 % | ST ITEAF TV T - L
‘A0 B. 70 @50 D. 60 =t

: The ratio of the present age of a man and his wife is 4:3. After 4 years this ratio will
become 9:7. If at the time of marriage the ratio was 5:3, then they married -

9% & 8 O THIF ISN IT7 97 AP 4:3, 4 T 7 IS TF 9.7, I A=A PR

=

T TP et ©1 5:3 2, ©F OT1 [ FEfe - 2 l
A. 8 years ago (8 =4 3I) Sl ~ 3

38 T :_}' 12 years ago (12 =1 9)
! ‘ 3':0 C. 11 years ago (11 =1 3)
4 D. 10 years ago (10 =9 M)

e /6/ A man can row 8 km/hr in still water. If the river is running at 3 km/hr, it takes 3 hours
more in upstream than to go downstream for the same distance. The distance of the

place is -
9% e P ST 8 RS (Fur wis 31 | 3% 517 (e (391 3 Rl 73 a3 (Anes
fATAiE 993 7HY ASHH FA® (HNGF TP 97 (V@ 3 61 N (AT 1T, O 82 A@F

FRERCE
A.22.5km B. 32.5km C.25km D. 27.5 km

i 15
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59.

60.

61.

62.

At

Today is Sunday. After 61 days, it will be -
S TR 61 o =7 aff 7= -

A. Sunday B. Saturday @ Friday D. Thursday

Second Saturday and every Sunday of a month is a holiday. How many working days
will be there in a month of 30 days beginning on a Saturday?

CTH (RS o= 8 =fS A3 5ff | 9557 30 foera (e A7 o o weF 76, B oy
(NG & FNOF 0 =NIT INE?

A. 18 B. 21 C. 23 @ 24

x men working x hours per day can do x units of a work in x days. The amount of work
that can be completed by y men working y hours per day in y days is -

x & Ty S e xwﬂammxﬁmxawmwwwwﬁﬁﬁyaﬁw
IO IRy O 9 (T AT I FE o7 7 -
(R)y* xunits  B.x%yPunits  C. x %/y? units D. y% x 2 units

The ratio of two numbers is 3 : 4 and their H.C.F is4. Their LC.Mis -

o ST SIS 3 : 4, B T V.8, 4 T, T N8, T -
A. 12 @48 C.24 D.16

A mixture contains alcohol and water in the ratio 4 : 3. If 5 litre of water is added to the
mixture, the ratio becomes 4 : 5. Then the quantity of alcohol in the given mixture is -

aﬁmwwewm4:31mﬁwsmmwmw4zsi
O, 393 frrafbre (¥ sfFee sneETRe e oy 39 -
A. 10 litre (FB1@) B. 12 litre (F5@) C.15litre (fB@) D.18 litre (FB@)

In a 500 metre race, the ratio of the speed of two contestants A and B is 3:4. Initially, A
was 140 metre ahead of B. Then, A wins the race by (in meter) -

500 B 236 (NS 2f¥EfRem A @ B R ARSI (FCIF ATS T 3:4. A, B 97 (V@
140 fBTR 9B (V@ (T 8F T | A T5 FEME AREHGEITE SIS FE o] 77 -
A. 20 metre(fB)  B. 60 metre(RB@  C. 40 metre(ffBE) D. 10 metre(fitm=)
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65.  If the length of a rectangle is halved and its breadth is tripled, the percentage change in
its area is -
1376 TTOHEF WEff (F IMEF IR T (F fSAST FAT T (FAHEH T6FAN (T AHIGH T ©

e -
@ 50% increase (50% & M)
B. 25% increase (25% (& ")

C. 25% decrease (25% 2T A9)
D. 50% decrease (50% X9 Q)

66. If two numbers are in the ratio 5:7 and their LCM is 315, then their product is —
=
o SRR SIS 5 : 7 | SR 7 7.8 315 T, O 8o T~ S AP
@ 315 B. 2385 C. 3285 D. 2835

gy —

67. The number (6n? + 6n), for natural number n, is always divisible by -
n AT AT T, (6n? + 6n) AFNIT TATSET AT (F A7 31 RANSFT 7187 fFem8n T

UELE
A.only 6 ((FF991@ 6)
B. only 12 (37918 12)

{ s and 12 (6 7x:12)

D. only 11 (@313 11)

68.  How many times two hands (hour hand and minute hand) of a clock remain in a straight

line in the opposite direction in a whole day (24 hours)?

5 TR ot (24 F6) S FH1 96 (3B Fo1 ¢ Ffada Fo) o 9F FIMEYT
- ! fredtefie a1 ?
a2z (B C. 44 D. 48

y | Given that a,b,candd are natural numbers and that a = bed, b = cda,d = abc then
(@a+b+c+d)?is-
a, b, c 932 d ITSIIF A 932 a = bed, b = cda,d = abe | 82 (a+ b + ¢ +d)? TF -
A. 16 B.8 C.2 D. 1
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70. When Amal was a primary school student he had to multiply a number by 5. But by
mistake he divided the number by 5. The percentage error he committed is -

T T AR FE TGO] O BIE AF0 AN (F 5 T 39 FA© I TARA |
GITE: (7 5 FET ANE Ol @ | (F TeFa1 (¥ T F@ET ©F T -

A. 95 @ 96 C. 50 D. 25

71 A person has night blindness. Which of the following components is missing in his diet?
97 TS TGS (F15T 3= | ST AW (FTAT6 Feirss ?

A. Minerals (¥fes i)
B. Proteins ((=nf6#)
@Vitamins (f&B1f)

D. Fat ((31% 57)

72. Which of the following is a helpful bacterium?
frafafie @@t SaFE [FHEET ?

A. Streptococcus sp. (CETBIRST)
B. Bacillus sp. (IeTR)
@Lactobacﬁh‘us Sp. (RGBT
D. Salmonella sp. (STTTFTGE)
T " Which of the following is closest to a balanced diet?
fersrfeifne 41y Sfer Ay (F1A6 SN AHF TAEE I 2
A. Fish curry (FT=9 QIT9)
B. Meat (312¥)
C. Milk (%)
D. Vegetable stew (MFNIRFT SIFIH)

|

74. Pneumatophores are found in plants growing in -
APTE (I ST (T T, (S T4 Sy -
A. Oxygen rich soil (SIX@ & M)
B. Loamy soil ((WI3T 1fGre)
C. Clayey soil (4% Mfoe)
i@ Saline soil (&@T MNBw©)
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/TE-./ Which of the following is not a fungus?
foafeifie @@t =are 73 ?

A. Rhizopus (FTRTHT)

B. Penicillium (Cfafsiferam)

C. Neurospora (FerS@&T=AT)

D. Staphylococeus (SBTHRENFST)

/-76. Which of the following cell organelles are non-membranous and are found in both
prokaryotes and eukaryotes?

frafafie @ @Y Il TRET 932 (NFNEI ¢ TTFNRIE TeEL I ?
A. Vacuoles (©71$3)

B. Mitochondria (SRR SAT)

C. Lysosomes (FTRBITEH)

D. Ribosomes (ST

77.  Which of the following is present in trees of saline environments?

IS AR T A6 @Efe [

A. Prop roots (J&%)
@Pneumatophores (ITTT)

C. Thorns (FT61)

D. Climbing roots (SI&13t )

78  Often cultivating legume plants in between two rice crops returns the fertility of the field.
Which microorganism is related to this?

@S SN G061 4TH SIEF A ST, NI ST61F Sfew 6 FAC M6 AIAH OF AE I8
SFe] A T 9% TEhed NG THfFe FHIT (FE(6 2

A. Lactobacillus (FTFGTRATNT)

B. Nitrosomonas (A130E [TIHTE)
C. Rhizobium (FTRTSTEETN)
D. Nitrobacter (FRERTEH)
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79.  Afriend of yours has difficulty in clotting blood at a flowing wound. Which vitamin could
he/she be deficient in?

(STHTE TH (R (FIEA] S (FE (5T TS TS I WO b1 a1, ST (X (FT fSB1fae a7 Tre/ g
HEm?
A. Vitamin E (f613& E)
B. Vitamin C (f$&1f3 C)
C. Vitamin D (f&B1f3 D)
(D) Vitamin K (RT3 K)

80.  Which of the following glands is not an endocrine gland?

o Sfafe af sfem s @it wgawar aff 732

A. Pituitary gland (FRR51% af%)
\ £B) Thyroid gland (x%FeT af%)
C. Adrenal gland (afSe 51f%)

@. Salivary gland (777 &%)

- 81. The substance stored in the camel’s hump is

TSR S 41T 11 7 5¥T A, ©F 7 -
A. Water (5%)  B. Protein (czf5e) @Fal (®7T6) D. Carbohydrates (7¢aT)

}2/ You are provided with the following reagents and equipment including blue vitriol, water
and a plastic cup. Which experiment could you perform with this set of equipment?
(O SFFRT A1 G, 7 95 9375 AT 97 377 (maT 7e7 | 3 Toreaer offr oy iy
A. Osmosis (SIfgg3+)
B. Diffusion (357574)
C. Absorption (e
D. Transportation (Ffaaz=)

Bé In which of the following diseases does the number of platelets fall drastically?

frafdfie A fFE war @ @ SeE T 37 (FEEn WA SINT O 07 I 2
A. Malaria (ST B. Plague ((&7)  C. Tuberculosis (¥%7)  D. Dengue (%)
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85.

}7.’

88.

Which behavioural trends are encountered in adolescent boys and girls of 15-16 years of
age?

15-16 T IO IF(0 (T I (MIF AT (P SAGATS (I FE (77 (Jr@ TNH?

A. Risky behaviour (331 amsae)

B. Intense emotion (S1F AMIETE FF71)

C. Mental restlessness (A& If%aer)

@AII of the above (92 ¥3&(b)

Which of the following is a skin disease?
fawfafie @sefE @t a3t sHEnr?
A. Typhoid (BR%ES)

éPolio (confers)
Ring worm (%)

D. Rabies (S1e%)

j( Which of the following pairs of cellular organelles and respective functions is not correct?

ol @@t FHIT I 8 T FIOF I NEF (S 77 ?

A. Golgi bodies: Breakdown of complex molecules (S5 3% : b SI9F SB#)
B. Mitochondria: Synthesis of ATP (SRGRHIT : ATP 83 5w)

C. Endoplasmic reticulum: Protein synthesis (ATSTESRIT ST : (Ao =ETF)

@Plastids: Photosynthesis (ZTFES : TERFRER)

In a compound light microscope, magnification takes place -

236 (QfSF IAMEF IS I FOIF JIAIPIT TG ?
A.Once (199) B.Twice 29®) C.Thrice 33@) £ Many times (32373)

Identify the correct pair -

A. Malaria: Viral disease (33T - SRAN qfbe @151

@ Dengue: Protozoal disease ((Gf31 - (AT H6© (@191

C. Plague: Bacterial disease ((&5" - S GEIT 96w (@715)

D. Tuberculosis: Viral disease (I57 - SRAM gf6® (F151)

w
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'/BSL/ Identify the incorrect statement.

90.

91.

g1 Afeft werre sl

A. Glandular epithelial tissue uses food energy to secrete molecules.

(T AT F I AT FA® AT M TINF FA)

B. Nervous tissue uses food energy to create electrical impulse.
(TF FfeF ANTT (ofF FA© AT & [T FE1)
C. Bone tissue uses food energy to create mechanical strength.

(I TfEF 1 (ofF Fa© W 1fF T FE1)

@Muscular tissue uses food energy to create mechanical force.

(T TfEe = ofF Faw 0w & T19TF FE@|)

Which of the following symptoms indicate Arsenic poisoning in a person?

forfafie e SowsB (wate it AT (T 9T IS INCHNE 73T IS @NT AF 1S TI?
A. Brittle bones and teeth (W& 8 TG TR (S18 I1T)
Iack spots on the skin (TG FTET (R T)

C. Paralysis of facial muscles (3¥& (¥ INTT 7T T1X)

D. Arching of the spine (8 &9 o1 (3@ T)

Which of the following symptom is not present in hyper-secretion of somatotrophic

hormone?
TR TaEE IS e B (¥ TFB (547 I /], ©F 39 -

(A Abnormally tall (FFT&T% THeT 3f%H)
B. Weak muscles (73 (571) 3
C. Increased blood glucose (T FREGH N @)

D. Round face ((STF JAHTT)

Find the odd one out based on the skeletal system of the body -
("R FEFTOES [AGIE (I H1AT6 Werro] ? .

) =™ @B~ OO
" " ” £
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94,

95.

Observe this Pumpkin flower. Give reason why this flower must cross pollinate.
FHGT O TG SIET I (73| I JE (ST, 92 FAGE (T 207 TGS 5102 T7?
it has only gynoecium. (92 Ff60® (F3 SO Ta6x F@RI)
B. it has brightly coloured petals. (92 Ff606 S% FET TeHST FAEI)
C. it has only androecium. (92 FHG0S (FT RETIF TE®I)
D. it does not have the calyx. (1% Faibre 3 (#31)

Indiscriminate deforestation without obeying rules can have which of the following
consequences?
A o T G @A ST (FE (ST | ooy [ 6 20w M ?
A. Carbon di-oxide and dust may rise in the air (ST §T7T INF CO, (ICT (IS MH)
B. Temperature may rise (/9% IS *NE )
C. Wildlife may be lost (I =4t 59 A& (J0® NH)

@ All of the above (9% 3 I35 Ffe 2© TH)

The national aquatic animal of our country is -
BIAGIT ST SISt FAT 2T -

Gangetic dolphin (371 88F)
B. Snake (7)

C. Crocodile (Ff¥=)
D. Sea turtle (STR{fE& F%=)

Characteristic 1: The cell contains cell wall, nucleus and other organelles but no plastids.
Characteristic 2: The cell wall is made up of chitin.

Which microorganism shows these characteristic features?

WRIET 1: A (I (FRATDIR, FATRFIT 8 STy S50 VTS AHS A 1l

&fAEy 2: aE (FIIABIE FRIGA 74T 08|

STEA (RS 5f6 (T HFF ATHNE (747 T?

@ Bacteria (FT3HIEA)

B. Protozoa (Srwy=a)

C. Fungi (=31®)
D. Algae (PraT)
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97. Global warming, now speeding up evermore, has already endangered the polar animals:
in what way has it affected them?
forg T TR (JE SR, A O F (FF TPEE SN R O SR
T OIE I HfS 27
A. interrupted reproduction (STWE SS&( ANHTS 60%)
B. lost habitat (SR IPTEMEA (& T61%)
C. dwindled food supply (STWs ¥ATES ISF (R)
@ all of them (4% 5722 T5m)

;( What is your view of promoting eco-tourism in the Sundarbans, combining entertainment
[ and revenue with ecological integrity?
T IR fRET ST SIS AT ST S AT 35S S (AT FT| T
T RIS STE (STTH (0 (ST §7l F1?
A. Tourism hotels in forest area with view and safari.
(TS FowT fFem G, IS RS " NHIET 597 T@®I)
B. Hotels outside forest area with tour into forest.
(IETF IR R (G, (TN (VF @A feuE TH0ET 597 I@=))
C. Eco friendly resort in forest area with view and safari.
(= FEOE AT I A, IN® THIHT AF THE 2% TN
D. Resort complex in forest area with view and safari.

(I SO A FMEH, INS TS T NHIRT N5 T

99.7 What food supplement would you suggest for a child with features such as weak and
bent legs and caving chest? |
(FIET 2316 Frow =1 31 J@1 4161 73 1@ (@ P o o1 3% o= Rem o
(F19 AT HIPIF? |
A. lemon, lime (*TfeTTq, N 779) |
@. Milk, egg, spinach (g, f&, 1 =1%)
C. porridge, khichdi (&aTeTe, fA§f%)
D. cucumber, gourd (*T5T, #TS)
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100. In most of the commercially available pickles, vinegar is added. The role of vinegar is to -
IS (T ACTF 3% 7T, O1F I17 733fore2 fSfsng meT7 41 | 95 F17 -
A. Increase the taste of the pickle.
(I EERIRI )
B. Prevent bacterial growth by raising the pH.
(pH IS IMEFTE 5 b1
C. Prevent bacterial growth by lowering the pH.
(pH F@ IMEIF I FBFE

@. Increase the shelf life of the pickle by promoting sourness.
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